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Charge vs. time
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 TDC can
not collect
low energy
neutron

Time distribution
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TDC LeCroy 2228A

Resolution (ps) __E_

Time range (ns) 100

Resolution means time for one channel in TDC

Now resolution is 40.7 ps

But TDC can read about 66 ns

To reconstruct low energy there are two ways

1. Enlarge time range

-demerits: poor resolution

2. Shorten distance between source and detector
-demerits: large depth of interaction error. Short time
interval between gamma and neutron



Timing adjustment

trigger

before

after

» Change source distance to 1.2 m
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neutron
data
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« Data time
limit is
Increased
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ime distribution

* Low energy
neutrons
are well
collected
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Neutron energy

e Well
reconstructed
about 4 MeV

* But its not
enough

- Count (MeV'")

(=]
Y

— Count (MeV")

(=]
=

D1

—— Watt spectrum

4’7 Data

0

2

3 4 5 6 7 8 9 10

E (MeV)
D3
i —— Watt spectrum
4’7 Data
[ Iz::zx =
Izr-ﬂfz x: = I
i T P
— é II
- = T
B 1
L I
- I
I
I\II‘\III'III\‘II\Il\ll\|I\II|II\\|I\II|I\\I|\II

10

E (MeV)

— Count (MeV™)

(=]
T

— Count (MeV™)

(=]
=

D2

—— Watt spectrum

4’7 Data

2 3 4 5 6 7 8 9 10
E (MeV)

D4

—— Watt spectrum

4’7 Data

10
E (MeV)



